

$$N x^T - \alpha x^T c_{20}, \alpha = \gamma \beta = \beta = \frac{c}{p} \quad (3)$$

$$\rightarrow S \left\{ \frac{1}{p} = \frac{\gamma}{p} \rightarrow (\alpha = 1) \right. \\ \left. \wedge - (-1) = 1 \right\} \quad \gamma \beta = \frac{c}{p} \quad \beta = \frac{c}{p} \quad \gamma = 1 \quad \left\{ \frac{1}{p} \right\} \\ - \frac{1}{p} = \frac{\gamma}{p} \quad (\alpha = 1)$$

$$\gamma - \alpha x^T = (\gamma + \gamma \alpha) x \rightarrow \alpha \gamma$$

$$\rightarrow \Delta \gamma$$

$$\Delta \gamma = 2$$

$$S \gamma = \frac{\gamma + (-\gamma \alpha)}{a} \rightarrow \frac{\gamma}{a}$$

$$\rightarrow \frac{-\gamma}{a} \rightarrow \frac{\gamma}{a}$$

$$\rightarrow \frac{\gamma}{a} = \frac{\gamma}{a} \rightarrow \frac{\gamma}{a}$$

$$\rightarrow \frac{\gamma}{a} = \frac{\gamma}{a} \rightarrow \frac{\gamma}{a}$$

$$y = -x^T - \gamma x + b, y = x^T + \alpha x^T$$

$$\frac{-b}{\gamma a} = \frac{\gamma}{a} = \frac{-a}{\gamma} \rightarrow \alpha = \gamma$$

$$S = \frac{-a}{\gamma a} = -\frac{1}{\gamma}, p = \frac{-\gamma}{\gamma} = -\gamma$$

$$\rightarrow \gamma m^T - a h + b.$$

$$\rightarrow S = \alpha + \frac{1}{\gamma} + \beta + \frac{1}{\gamma} = -\frac{1}{\gamma} + \frac{1}{\gamma} + \frac{1}{\gamma} = \frac{1}{\gamma} \quad (9)$$

$$\alpha = 1$$

$$x^T + \gamma x + \alpha m \rightarrow S = -\gamma \rightarrow \alpha = -\gamma - \beta$$

$$x^T + \gamma m - \gamma m = 0$$

$$\alpha = -\gamma - \beta = \gamma - \beta$$